2005 B 1-1
1.
1.1 =
Boyle pV = const., Charles V = const. x (6+ 273.15)
p: , V. , 0
[ ]
pV = nRT (1.2)
[ 1T
( K) = [ 1]
T/K=0/°C+273.15 (1.2)
[ Ip
( Pa) 1Pa=1Nm?(1N=1kgms?
bar ( ) : 1 bar=10°Pa
atm ( ) : Latm = 101325 Pa
[ IR
=8.314472 J K mol™
1J=1Nm=1Pam®( x )
[ ] n =
mol, 1mol=12g *C
Na = 6.022142 x 10 mol™
[ ]
(SATP): 298.15 K (25°C), 1 bar
() (STP): 0°C, 1 atm
1.1
a) R = 8.314472 J K™ mol™ atm K™ dm?® mol™
b) (SATP) 1 mol
1.2
[ ]
A A
\1, p,A P,A \1, PA pA
P < Py Pp=p,=p
plv pZ: A:
[ ]
\ly q
- ;
T,.<T,
qg:
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ex.) ,
[ ]
()
ex.) , ,
[ ]
ex.) , ,
[ 1( )
X n (mol) Xm=X/n
ex.) :
1.3
1.3.1
F |
w = Fl ‘Nxm=]
p AV
W = pAV :Paxm*=Nm?xm*=Nm=]
\ m
Ex =imv?® kg x (ms™H2=kgms?xm=Nm=1J
( )
(9: =9.80665 ms™) h, m
Ec = mgh ‘kgxms?xm=Nm=1J
C AT
q=CAT SIKxK =1
1.2
(59 ) 224 JK*
a) (20°C — 35°C )
b) a)
c) a)
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1.3.2 ( )«
1kT
k =R/ NA
[ ( ) ]
X, Y,z
e=3KT ( )
E=3RT ( ) (1.3)
1.3
340 ms™
a) 298 K 1 (N,)
b) a) (N, 28
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